> with(inttrans);
[addtable, fourier, fouriercos, fouriersin, hankel, hilbert, invfourier, invhilbert, invlaplace, invmellin,
laplace, mellin, savetable, setup |
> u:=1t ->sum(-1)*n*Heaviside(t - n*Pi), n=0..13);
13
U=t Z (—1)"-Heaviside(t — n-1)
n=0

B plot( u(t), t=0..35, discont=true);
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> v = t-> sun(Heaviside(t - n*Pi), n=0..13);
13

Vi=te ZHeaViside(t —nm)
n=0

=> pl ot (u(t)-cos(t)*v(t),t=0..35);
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| apl ace( u(t), t, s);
%(1 _e—sﬂ:_i_e—2s11:_e—3s11:_i_e—4s11',_e—5s11:_i_e—6s1t_e-7s117_i_e—SSﬁ_e‘9Sﬂ'f_i_e‘losn_e‘“”E
+e—12sn_e—133n)
> u:=1t ->sun((-1)"n*Heaviside(t - n*Pi), n=0..infinity);
U=t Z (—1)"-Heaviside(t — n-m)
n=0
> laplace( u(t), t, s);
1
s(l—l—e_sn)
> invlaplace(%s,t);
t
1 —1)"
1=
2 2
> convert( sin(t-Pi)*(Heaviside(t-Pi)-Heaviside(t-2*Pi)),

pi ecew se);
0 t<m
undefined =7
-sin(t) t<2m
undefined t=2m

0 2n <t

()]






